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Specific Charge of Copper lons

(Q2) The specific charge of copper ions (K} is 3.03x10° C/kg. If a current (/) of 1.0 A is
passed in a CuSOy solution for 30 minutes, then the amount of copper () deposited on

the cathode {in grams) is: -
{2) 0.396 ; (b)0.012 ; (c) 1.19; (d} 3.35; AEY 7594 ;
i 3— ]'_h Gl R Lo REs -
Measurement of Resistnnce: Obhm’s Law lk: I e Sl "
T

(Q3) A wire of length L and of cross Wéﬂﬁﬂa} area A, When a potential difference V¥ is
applied across this wire, a current [ passes through, The resistivity p is calculated as:

@p=En/V4); : = NIELY @ p=UEDNIVD: o S
@p=@N/un; T @p=UILIE; PUADIVLY; §. 4
1Y ar N - Ia= 1 j_l_!-‘ = W — i _Uﬁ e
' R g th

Potentiometer :]"';,T
R

(Q4) A potentiometer of IF_JD cm wire an:{ ils corresponding ealibration graph are both
shown in the next figure. If the balance poinl {Zero reading of Galvanometer) is located

at L, = 30 cm, the voltage (V;) of the unknovm battery is:
@is0; ML @0 @2; ©2:00;
4 b ¥ (Falts) :E
4- b,
- L .
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) : : : > :I
firg
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> (Q5) A Wheatstone bridge ©
*  shown in the noxt figure. Take Ry

volue of the resistance Ry (m ) IF' 5{] .;:l‘l HJ'I::] IQE‘“‘"

reading of Galvanomeler) is at L 49
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£ 2007 {bl}i ST 15 &4 }75.0 & @59,
R : e 3
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(Q#) For the following efeetric circuit g aﬂia is nhtame-:l in mas experiment:

R, (50 ] 1o | 20 | 30 .l[.m'ﬁ 54
v, (V) ] 10 [ L7 | 2T [f2.5
T, (ma) | 100 | 83 | 71 [\63/

From the dara determine:

{8) Py (MW} = 'I:fn_i.:n:rﬁ_‘, ----- A CLET

(b) Rg(€) = .. ¥, Mo, <
(c) 7o (V)= ;..ﬁ...':f.:i.‘.az.‘.::;.;
i o L
' e -A""""*"'ﬁi:—ﬁr_‘ "F’L-::
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